LIKEEEMEER
5 HE1EEX
EREH ki (FRES) BEEAAT ok (m/B)
UM RLITHEERA)
J\GBET EKE L/ \ (BT it & iA 15,000 6,000
B BET EKE MLEHEBETH#EERID 7,770 2,863
BHKESE. SREKEHEREER
3 FE1EEX
EREH kit (RIS HEHEAAR o (m/8)
(UMERLITOERA)
J\BBET RIS 5 KE EIFER. EWLTER. BAOE—E 440 141
J\SBET$5 /R E 5 KE SR, EROE—% 170 34
J\BBETHR e 5 5 7k E?fgg_fg% B#. 2. BB F. AL, VELQ 420 122
FR.FX. DU, BZRE—S. BZRE=-5. 5
J\PEETHE £ 5Kl ZECE 7 RS0 &— 5 = 1,200 236
J\BETF RS KE FEO—E 200 96
J\BEBET/NEFERF K QTR AR HR—_ED—& 86 13
\EBET TS HE S /KE 22k.RZEO— 250 100
J\IBETR A B 5 KE HEAR. BRABDE—E 74 55
J\PEET RS 5 KE HE. BEOE—E 200 50
I\BRTHE B ZKE R.NE.OE=ZEDOE—E 300 75
I\IBET&RBH S KE [, e, BO., VERYDE—E 250 63
J\BET T B 85 5 K& %%gb}%{‘g*‘ P IE. XBA. T 1338 625
J\IEBTEAER SR K BEEO—& 14 4
J\BEET AR5 5 7K & KR, A2, EEOE—5 151 45
J\EET = @8 5 KE FER. M. NABOE—E 260 87
J\IEET 5 B 5 KE 8. NADE— 300 90

J\BBET/NIR L 5 KE

INIREEERER, /NABELTEER. /NARLLERED. /NARLE
tEBOE—E

450

248

J\EETH R 5 KE . XE. B8, MAROE—H 536 200
J\PRETEF 2 EERFK G HEER (BB 54 16
J\PERTEFTE AR AR |(FEO—& 29 9
J\WE T i3] BE £ 55 7K 38 AE—K. AE-ROE—I 110 33
J\VERT O 3 = 5 S8 KRR HED—L 19 5
RO o 2 K %8 &L K. AL, E0H. B0 REOS 4670 —
AHETH RS 5 KE AR, PHE, THEOE—1 400 166

R FNET 5 M AR K BEGTE 2%

MO —E

85

32

B3



EREH @i (TRES) HERAAD| U o a)
N AUTRIERA)

KFBTAL S 5 7KE KR, OXMR. MERDOE—E 840 424
KBRS KE TRE. LHE, THE KOE—H 850 426
KRBT 5 KE ZH.RAOOE—L 440 224
BRETRBBESKE B#BO—I 338 227
B RETR M 5 KE . /B B BEOE—E 1,070 562
B R ET RS 5 KE hEO—E 537 183
B R BT 2 Ik 3 5 7k 8 B % ik D — 55 284 111

B BETAR S 5 KE MBEBO—E 820 356
B RETIL AR S 5K E S, SEE. TR, REOE—H 1,030 413
BB ET— B ETfE 5KiE —BEO— 670 350
BRETR/NEAR 5 KE E/NEKR. BEROE—IT 750 351
=R AT R fE 5 KE hifl. MER. EvR. BEDNE—1 1,720 844
= EETY) I8 5 KE YL O—EB 320 96

= R BT 75, 3 5 K& FwRO— 480 412
BEEV AN DM S5 KE VAHDD—ER 640 263
ERITERSSKE ERO—1 330 124
= RET LS5 KE tHO—H 182 355
= EET/NREE 5 KE INRID—E 140 42

5 R BT KR R K 4G FE 2% KiRD—E 99 15

= ERT AR AR K e e 3% mEO—I 56 100
2 BT AL SRR 55kl ?%Z;E‘Bﬁ\ﬁztﬁ%mééﬁgﬁ%gé’%ff 1,258 370
= 4 BT B kG ;%;ii:. B R, LNZ. AX. 85, TEO — P
XA ETRERFE FkE B, /UR. BROE—E 580 174
=BT R ERS 5 KE AER.RBHOE—I 270 140
=3 BT B IR 5 5 K BRO—I 103 55

BA S M {E RS 5 kiE ik, REDE—L 529 227
BAEZMFHSKE ZHEF. XS SEOE 883 383
BAE/MIIfE 5 KE INID—ED 250 81

BAEEKE S KE ERkD— 376 199
FBETRI R E Bk %zv‘i%ﬁﬁgi Tir s me ®B | 2200 878
#0 BT H ¥ 80 K g fEEX HEO— 60 22

0 B BT FUR SR K S 2% BEO—E 11 3

Eg



